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A : FA, BMERAME 50007

>>> ('abc' + '123') % 3

— y s 'abc123abc123abc123"
S SHEBHHENSR , TUEES poTEREREIRE
§ Fmz=EHHAO R EZAIFIET >>> import math
= ‘ ) >>> math.sqrt(12)
| AREmmENR , tALLEES 3,4641016151377544
Egﬂj IE . A BEYURRBANEDMRA -<built—in function sqrt>
5 callable >>>
N ERAEAENE, BEEKXLAEME Zaer
¥5, WRASH, BEARKESE 408 3
T ERUEEE e S E T 222 b2 = math-sart(2) R
B, RARA 1.4142135623730951
->>> pfg = math.sqrt
/ ﬂg%i_ﬂﬁ%ﬂa%ﬁ@‘a{g&gﬁ# :;zlﬂzgln function sqrt>
si#135|H , IRAWE >>> pfg(2)

1.4142135623730951

T KF/Thi%/2017



TEt{E1E "R \RI5
) REIREES

X=y=2z=1

 SANEESHEWE
b

FBEHITEERS DIf5H uoyifg ‘

T KF/ %ik/2017

a, = ['hello', 'world']
) TLEAHA
a, b =b, a

>>> X =y =2z =1

»>=>> X, ¥,2

(1, 1, 1)

>>> a, b= ['hello', 'world']
>>> g

"hello'

>>> b

'world’

>>>

>>> a, b =Db, a

>>> g
'world'
>>> b
"hello’
>>>

>>> a +=
>>> g
‘'worldcup’

cup’
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;:l:ﬁjlllb]-ﬁﬂ . %ﬁﬁf

 EHHES
if <FHEFH>:
<35 a) k>
elif <F#H&4>: # T A S Aelif
<& ] 3R>
else: #{X14~
<& ] k>

y ZMHRBEREEESBIEEIRS
False , He{ElI&True :

None, 0, 0.0, '',
[1, (), {}, set()

T KF/ %ik/2017

>>> g = 12
>>> 1T a > 10:

print ("Great!")
elitT a > 6:

print ("Middle!")
else:

print ("Low!")
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ERITED : whilefEiR

y ¥aAwhile
while <iZ# 54>

<A 3R>
break #3t& #A3R
continue #%%iT & T3R5 a)
<TE @RS

else: #EMTRFHEERMEIR, MIIT
<A 3R>

) elseROJLIEIBIEREREER T
break

T KF/ %ik/2017

s>s> n =25
>>> while n > 0:

n=n-1
1T n< 2:
break

print (n)
4 >>>n =5
3 >>> while n > 0:
2 n=n-1
- — ifn<2:

continue
print (n)

else:

print ('END!")
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>>> for n in range(5):, >>> alist = ['a', 123, Truel

; *J |b'l-|:|ﬂ : forﬁﬁ print (n) >>> for \‘;rigta}\ljt.

IELTEfor
for <T &> in <TH&EKIT£>:

<iEa) 3>
break #3t 1 4% 3R

N

age':18, 'gender':'Male'}

>>> adic = {'name':"'Tom"',
>>> for k in adic:

FEHITEER DIfE uoyifd ‘

continue #% it 4 FHEIRiE 4 print (k, adic[kl)
else: #ZEXKZTHE, WIMAT
name Tom
<iEa) > age 18
gender Male
. . , * . —
’ E&‘tiﬂ%ﬁ{ﬁg*ﬂ >>> for k, v in adic.items()
FFHE. Pk, nA, FH, £LHF print (k, v)

LT AR BRI GERS ., BXKBF
name Tom
age 18

ender Male
bR KF/ %K /2017
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EACAS LS - zip () /%Y
»  EHFforfBIAANEN EX S =ZHAIEN

IEBUHITINEE |, (BAE
BRHEIAIFEZEL

N

N

——XIRAYE:

» fEAzip()F]&
1)

2307

N

O P VAvA={: bk

HIFIER,

T KF/Thi%/2017

S TR

BIAHIFS
F , BRENFEFHTEHE

EZIT LAEACRI BRI

zip(listl, list2, list3...)iROHE

&1t pk 7o 4H

weekdays = ['Sun',
'"Thu', 'Fri',

for n, s in zip(range(7),

print (n, s)

for n in range(7):

'Mon',
'Sat']

'"Tue', 'Wed', \

weekdays) :

print (n, weekdays[n])

n =20
while n < 7:

print (n, weekdays[n])

n=n+1
drinks = ['coffee', 'tea', 'beer', \
'water', 'milk', 'coca-cola', 'none'l]

for w, d in zip(weekdays, drinks):

print ('drink', d,

drink
drink
drink
drink
drink
drink

"in', w)

coffee in Sun
tea 1in Mon

beer in Tue
water in Wed
milk in Thu
coca-cola in Fri
none in Sat




Fings>

o 287%En, 1tE1+21+31+...+nIfE

o B[EYHIm , it8ySEmBEIXK?
EEEFZ X

o HREFFFRSHIEFn , FTEMBFFHRsRAABINAFRFH

#l4rabcdfr1, & Edabc
#l4emnbol#=2, = olmnb

o [E—AHENHFFEFR , FTEMENIRAEIFF 55

%42 : one-four-five-nine

iR : 1459

FBEHTEE R Dif5R uoyifyg ‘
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HZfunction

)

N

FE AR B BRIEERICIBE |
& , LAMEEH (reuse) ;
EWFY : defiif ; -
def <HRH &> (<BFk>): ;
< %8 3F 69 K AL £ > /13
return <& # & E4E> E
EREY : <ERE> (<B3%>) | °
iEHIEF! \5
RBEME: <R L> (<HEK>)
BEMEBAE: v = <R L> (<5 £>)

T KF/ %ik/2017

def sum_list(alist): # ENX—1HESEHIEE
sum_temp = 0
for i in alist:

sum_temp += 1

return sum_temp # REUR[EE

print(sum_list) # TFREISsum_list

my_list = [23, 45, 67, 89, 100]
# FAKRE, REMEIK{ELZLSmY_sum
my_sum = sum_list(my_list)

rint("sum of my list:%d" %

<function sum_list at 0x10067a620> |
sum of my list:324 l
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EXHHNSH : BESH / JESH

EX BT , SHEILAERH ;

—HEESHERPSPSH B key
S, BlET IRFfEE

def func(keyl, key2, key3..):
def func(keyl, key2=value2..):

—HHEEXHEAESEBS LS
FUENHITSE

def func(*args): #1#key® A 5%
def func(**kwargs): #key=vali} Xy
EZNE =4

N

N

N

T KF/Thi%/2017

16
17
18
19
20
21
22
23
24
25
26

def func_test(keyl, key2, key3=23):

print("kl=%s,k2=%s,k3=%s" % (keyl, key2, key3))

# B8ENKey3, ATHREE
func_test('vl', 'v2')

# ENTkey3

func_test('ab', 'cd', 768)

# ERZHRMIM AT AR ERF
func_test(key2="KK', keyl='K")

====func;test

kl=v1l, k2=v2,k3=23
kl=ab, k2=cd, k3=768
k1=K, k2=KK, k3=23

AN



EXHHNSH : BESH / JESH

29 # AR ENO N Z TR SE

30 def func_test2(xargs):

31 for arg, i in zip(args, range(len(args))):
32 print("arg%d=%s" % (i, arg))

33

34
35 print("====func_test2")
'abcd', True)

I} uoyfyg ‘

func_test2(12, 34,

====func_test2
argf=12
argl=34
arg2=abcd
arg3=True

HIHITEE R

T KF/ %ik/2017

39 # AIABEEEANO TSN ERSE
40 def func_test3(xxkwargs):

41 for key, val in kwargs.items():
42 print("%s=%s" % (key, val))
43
44

45 print("====func_test3")
46 func_test3(myname="Tom", sep="comma", age=23)

====func_test3
sep=comma
age=23
myname=Tom

YA




RARSNSE : MBS / XEFSH

:5? ) iEL%E%&HgH?”I; jl‘lfg ﬁﬂ’ def func_test(keyl, key2, key3=23):
g %& . 17 print ("kl=%s,k2=%s,k3=%s" % (keyl, key2, key3))
S I 18
iE . o
| —eERESTMMESE oo
%j func(argl, arg2, arg3..) = ;U?%_C)-\t%s(;(/é"l'v 'v2')
(S A\ 3 Bg 2 F 2 3 £ 24 func_test('ab', 'cd', 768)
}{3 =B RAT S T 3T R 2 35 Bofe N 25 # {Eﬁﬁf‘*ﬁﬂl%ﬂ?}LTuT IIIﬁF
ﬁﬁ 26 func_test(key2="KK', keyl='K")
» —FhETFkeyRIKEFSE -
func(keyl=argl, key2=arg2..) ====func_t35t
B FHZ Tkey, TRURERIRA X5 kl=v1, k2=v2,k3=23

kl=ab, k2=cd, k3=768

MERREAH . FMBAESHERER k1=K, k2=KK, k3=23

, REFSHWRER

T KF/Thi%/2017
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EEIMRID : map()EREY

num = [10, 20, 40, 80, 160]

> B, FERXWIIRPBITRM st = 2, 4, 6, 8, 10]

3 —MERRLE , SEIFTIR def mul3(a):

i3 X

E > Wuaﬂﬁﬁﬁ;&_ nﬁl&?ﬁ print (list( map(mul3, num) ))
E y IR RsEmEEEN ief atob(a, b):

A B4 SIS RE RN return a + 1.0/b

print (list( map(atob, lst) ))

num,

y map(func, listl, list2....)
 HEfuncBNASE , BEIRLA

]
§J§ [30, 60, 120, 240, 480]
[10.5, 20.25, 40.166666666666664,

80.125, 160.1]

T KF/ %ik/2017
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EREVIMELS - EREElambda

B

N

Eﬁ/\

—IR , HERE

MAEE , JLATEEEMEdef—

N

ER%]

N

T KF/ %ik/2017

lambda <&#3FE> . <FX >

LambdaZFz Xz ] LR Bl —1NE R

num = [10, 20, 40, 80, 160]
st = [2, 4, 6, 8, 10]
def mul3(a):

return a x 3

print (list( map(mul3, num) ))

def atob(a, b):
return a + 1.0/b

print (list( map(atob, num, 1lst) ))

print (list( map(lambda a:a * 3, num)))
print (list( map(lambda a,b:a+1.0/b, num, 1lst)))

W \ T |
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Fings>

» IK(LFEEHIE - UE— 1 EREN | %

Z—NE#in(n>=100)
HESAKNWTEE

, FIERXA

PP it e R K Amiz R, NHFAz Loy
BFOIMRBZLAFTECERS, Hl01"3 +

543 + 373 = 153,

174+674+374+4"°4=1634) ,E ETrueX %

False.

 BIB—1EY, EE—12Y

max(max>=1000) , i

A LR

SHYFIEFEREL , k100 maxZ[a

R9ZKAlIFEE

T KF/Thi%/2017

y BIEE— 1A, BEERNTF

A, BORPMFHFHRFHFE

HIHER.

&n&%é@ﬁ/'\‘?ﬁ_$yg|labcl|ﬁnubcdn,
Hset([‘a’, °b’,

)c) F ’d,])o

”%’-%ﬂi

&
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HEHTEE T DifoE

Pythons |} EBfRIR : import

import <{gR> [as <FIF>]
KA e F oy R F LMRF NG A

“4r %72 A ” namespace
IR F ik <A&I> . <BAR>

) dir(<BZFR>) R
7] th 45 A ) o 1

» help(<&fR>)EHEY
BT 5EFH

N

y from <{&R> import <ZfR>
FNAE B 0 3R 4 AR

T KF/ %ik/2017

>>> import time
»>>> dir(time)
['_STRUCT_TM_ITEMS',

' doc__', '__loader__"', '__name__

', '__package__', '__spec__"', 'altzone', 'asctime', 'cl
ock', 'ctime', 'daylight', 'get_clock_info', 'gmtime',

'localtime', 'mktime', 'monotonic', 'perf_counter', 'pr

'struct_t

ocess_time!, 'sleep', 'strftime', 'strptime',
ime', 'timezone', 'tzset']
>>> time.tzname
('csT', 'CST')
»>>> help(time.time)
Help on built-in function time in module time:
time(...)
time() —-> floating point number
Return the current time in seconds since the Epoch.
Fractions of a second may be present if the system

clock provides them.

>>> print(time.time())
1490280256.450634

Z
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Bja)483€ : calendarfsEiR

» IRBBHEXBE TR, aLl
R AR RIR B

y calendar.calendar(<£E>)

y calendar.month(<£>,<B>)
BE BT FHE

» calendar.isleap(<£E>)
F 5] 15 <5

y calendar.prmonth(<&>,<H>)

» calendar.prcal(<&>)

T KF/ %ik/2017

>>> import calendar
>>> calendar.month(2017,3)
' March 2017\nMo Tu We Th Fr Sa Su\n
1 2 3 4 5\n6 7 8 9 10 11 12\nl
3 14 15 16 17 18 19\n20 21 22 23 24 25 26\n2
7 28 29 30 31\n'
>>> print (calendar.month(2017,3))
March 2017
Mo Tu We Th Fr Sa Su
1 2 3 4 5
6 7 8 9 10 11 12
13 14 15 16 17 18 19
20 21 22 23 24 25 26
27 28 29 30 31

>>> calendar.isleap(2017)
False




Bjaj483% : datetimef&EiR

o BANEERSE

§ datek S A H

15 timeit B oA, B | |

S >>> import datetime

= datetime4t ¥ H 4w b 9] >>> datetime.date.today()

EH:'. datetime.date(2017, 3, 23)

,\S timedeltakt & (W18 A1) ::: g=datetime.datetime.now()

E% datetime.datetime (2017, 3, 23, 23, 38, 35, 209753)

 mHRE / BiE

datetime.date.today()

>>> d.isoformat()
'2017-03-23T723:38:35.209753"

= >>> d-datetime.timedelta(days=2)
datetime.datetime(2017, 3, 21, 23, 38, 35, 209753)

datetime.datetime.isoformat()

y FNEERREEREtimedelta

Z

datetime.datetime.now()

T KF/ %ik/2017
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AYIEI4ESK : timefRiR
) time.time()jZ S RAYIERIE

M1970-1-1 0:0:0FF 3589 %

N

time.struct_timeZ5{a{L AT
time.localtime (<L /TEIE]>)->4EH)

time.gmtime (< ZTH 18] >)->4E4
time.mktime (<& A ALEE]>) - >4 LA 18]

y time.strftime(<i & >) TR
ftiat ( 5544 ) RJE

y time.strptime(<ZF&H >, <& >)
AR TIVIRBI=F & |, IR[O]HSE)

T KF/Thi%/2017

>>> import time

>>> n = time.time()
>>> N
1490285666.071055
>>> time.localtime(n)
time.struct_time(tm_year=2017, tm_mon=3, tm
_mday=24, tm_hour=0, tm_min=14, tm_sec=26,
tm_wday=4, tm_yday=83, tm_isdst=0)

>>> time.gmtime(n)
time.struct_time(tm_year=2017, tm_mon=3, tm
_mday=23, tm_hour=16, tm_min=14, tm_sec=26,
tm_wday=3, tm_yday=82, tm_isdst=0)

>>> p=time.localtime(n)

>>> time.mktime(p)

1490285666.0

>>> p=time.gmtime(n)

>>> time.mktime(p)

1490256866.0

>>> time.strftime("%Y%sm%sd %H%M%S", p)
'20170323 161426

>>> time.strptime("20170324", "%Y%m%d")
time.struct_time(tm_year=2017, tm_mon=3, tm
_mday=24, tm_hour=0, tm_min=0, tm_sec=0, tm
_wday=4, tm_yday=83, tm_isdst=-1)




&HEﬁMEEﬁiﬂﬂﬂﬁuoqu/‘

BEXREREN : BR

math : ERANEAREH. =HEL
. HEOES

» cmath : ZIFEHBImMathiFg£y

» decimal : +#HIESE]

» fractions : IR , LI

» random : FEHER

random.randint(a,b)

N

random.randrange(start,stop,step)

, statistics : —LteFitiEREy

T KF/ %ik/2017

>>> import random

>>> random.choice(["apple"”, "pie", "tea"])
'tea'

>>> random.randrange(10)

4

>>> random.randint(1,10)

5

>>> import statistics

>>> statistics.mean([12,34,56])

34.0

>>> statistics.median([12,34,56,100])
45.0

>>> statistics.median([12,34,56,100,101])
56




uoyfy ‘

HEHTEE T DifoE

524% : shelve

N

S EATER:

BEXIR , REFEIXHRE

RKUFHAZ IR |, AiERS
shelve.open(<3{§%>)
f[key]=value

value=f[key]
del f[key]

f.close()

T KF/ %ik/2017

import shelve

d = shelve.open(filename) open -- f

library

store dat
using an
retrieve
if no suc
delete da
if no suc

d[key] = data

data = d[key]

del d[key]

true if t
a list of

flag = key in d
klist = list(d.keys())

WH OWHHERHBR WK

# as d was opened WITHOUT writeback=Tr
d[ ‘'xx'] = [0, 1, 2]
d[ 'xx'].append(3)

# having opened d without writeback=Tr
temp = d[ 'xx'] # extracts
temp.append(5) # mutates t
d['xx'] = temp # stores th

# or, d=shelve.open(filename,writeback
# d[ 'xx'].append(5) and have it work a
# consume more memory and make the d.c

d.close() # close it

\
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FEWTEER DIfE uoyifyg ‘

NANHES : HEXHHR
open(<X{4&>, <t&Ex>)

f.close()
f.readline() : JR[E]—4F
f.readlines() : iBRBIFFE1T , 7%

f.writelines(<ZFHRIE>) : 5
AXE1T

N

N

N

N

N

T KF/ %ik/2017

>>> f=open("my.txt", "w")

>>> f.writelines(["apple\n", "pie\n"])
>>> f,close()

>>> f=open("my.txt", "r")

>>> f.readlines()

['apple\n', 'pie\n']

>>> f.close()

Z



Figss

REZRITE , EEHEEM (
n=1~100 ) SFEEZI<HIE ?

) B—RXEBA NN
BRI, SR,

RN, FEEEEAPRI10
ERIA,

N

FEWTEER DIfE uoyifyg ‘
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HEHTEE T DifoE

Elf2FBR5H : easygui

» HJLUARRFHINEE. XPFIE. &
;?F*E'—ﬁFHF'B‘E_EL import easygui as g

. . import sys
easygui.egdemo ()& T~ while 1:

y easygui.msgbox

y easygui.fileopenbox

y easygui.choicebox
y easygui.textbox
y easygui.passwordbox

 ALAMLIESRRNER R =R

T KF/ %ik/2017

g.msgbox (', XRiMHNE—TGUIHIERIINEEXK~")

msg = "{REZEZFEIFTAFIIRE?

title = 'Bap/NE%"

choices = ['E#HE"', 'OFREL', 'BFEE', 'FRDH']

choice = g.choicebox(msg, title, choices)

# note that we convert the choice to string, in case the user
# cancelled the choice, and we got None.

g.msgbox( '{REVIEIEZ: ' + str(choice), 'ZFER')

msg = '{REEEMHB/INERA?

title = "iFEE"

if g.ccbox(msg, title): # Show a Continue/Cancel dialog
pass # user choose Continue

else:

sys.exit(0) # user choose Cancel




BRE : turtle

) RELBAED M LRI FriER I
§ ﬁ , }ALOGO'EEE EEHE;E import turtle # SAturtlei®iR
= p = tur‘{lezPsq() )# ﬁUEfES'Zﬁ%f E(Ei%)@
15 s . P === P-.pencolor('blue') # REEZEFAGBHR
) 0 BR:ER. MY, EhE D oard(100) # BYBE (58) HAELS, MHEKEH1000E
p.forward(100) # S|¥EZE ( diIEG7h, EEERKEN1I0NELZ

E%H ﬁsg . ;A#-a':,l-l- gﬁ@ *ﬂém p.left(120) # EE (B8f) @Ak120E

 HIFE g Ig'-Fs ERE., s p.forward(100) # [EBIERENI00HEL
Fﬁ p.left(120) # E=E (8%) MAi%120E
E‘é left(120) /\\ p.forward(100) # [EAIERENI00HES

Fa p.left(120) # EE ((Bf) MAi%120E

\

/
forwa rd(l@@')/ \\\ forward(100)
/

¥

T, left(120)

left(120) '
\~> '- ------- )

o7 Kk 2/ Tk /2017 Ft4 forward(100)



BRE : turtle

» o EMEELES |, MR REE N K

. mempELNeE , Some, | | -
RIS SCIMEhEHIE \ /

 IRKEERFERS

uoyfy ‘

HEHTEE T DifoE

Liu Mingchen
1400012404

WAL

FIN e SRIDM

T KF/Thi%/2017
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EiNgs>]
FFBturtlei&th , &£&easygui , ik
APREE—1 B #HITSEE

®FE “IEERET | SEl—1 B
100RI%BIESHS

®EFE "hAE" , BE—1TaK
1004 BRAE,

N

N

N

T KF/ %ik/2017

YA



